FLIAKE 2020 FMEHAREANFZAERER ST L

KA FREAKHEE B4 BUR/IME Ml 5 iR
# #[01] 320 50 90
% 3 %#1[02] 350 50 90
- % %1[03] 350 50 90
¥ | [0403] 325 45 180
I L #[05] 355 52 90
71 # 2 [06] 325 50 180
= | BE(07] 300 50 70
T [08] 280 50 60
fiL | &%[09] 300 50 70
B 5 [10] 305 50 170
& E¥[12] 350 50 90
T AR F([13] 350 40 90
4 #[0251] 360 50 90
7 4541 [0252] 350 50 90
P77 4-[0254] 350 50 90
R[4 [0255] 350 50 90
#11[0257] 210 50 120
% ##[0351] 330 50 90
# 4 TE[0352] 360 50 90
] R E[0452] 320 45 180
i P iE [ PR %0 F [0453] 335 50 90
Sz i /5 32 [0454] 350 50 180
% #1%[0551] 355 52 90
#7515 4% [0552] 355 52 90
. 4 5 1478 [0651] 325 50 180
fir B F 15 £[0854]. #LH#[0855].
A5 1L T[0856]. # IR 5 #F
#[0857]. #EVR ) #1[0858]. + 280 50 60
AAF|[0859]. £415E
[0860]. 3% i iz %1 [0861]
Il /R 2 % [1051] 305 50 170
b fF = % [1052] 305 50 170
45 T 4 [1053] 305 50 170
7 #2[1054] 305 50 170




KA FREAKHE B4 BUR/IME Ml 5 iR
2% [1055] 305 50 170
TR & #E[1251] 210 50 120
% 4 F F[1252] 210 50 120
:l_\,‘k £1+[1253] 210 50 120
+ iR i & 2 [1254] 180 50 120
i | m 4 #[Less) 210 50 120
T A2 & #[1256] 175 50 100
% AR [1351] 350 40 90
& IR 2 % %[020200] 320 50 90
fih /x 3t 72 [120400] 290 40 85
= 3k T A 5 Tl E %[100400] 335 45 180
| x4 2070600] 305 40 80
+ EERMENFRERERSHEER L, BHE105
5 R KF &+ FEiHX] éé]\ﬁé 40 4, @ﬁ%ﬁ)iafﬁ%ﬁ% “40/60/248” <%m
n 1‘1‘ ). “40/12(’),/2:8: ( i; 1) = 45)/80/11? ’:( %Pﬁ}l} Do
i

1 UENBRREREASHL. LA BN EFRERELAP T L Z
b, TEASEFERMEATXEEN, BEHEARRMCE &N E XK
BREERREMFERER, fAXERTIELH FITHEA,

2. BRA B “RFAZEMSTEHITX” “=F—#itk]” “#&EE
A AR EIR” “RAXEHFTNEFRAITAE LR R]” “#
SPRIEHTERE” STERSHHNE £ @ sy EEel & n
NS XS BB ENE L, PATHFHE Xm0 E K.

3. TR&#[1251]. A& H[1252]. 4 it[1253]. jkisE #E[1254].
HEFER[A2B)F LN E VB IR ERANE L, ERAER ALK
(175/44/88), Z XK F R E K5 NAT KRB E B ALHE



